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“The September 11 attacks represent a desperate backlash against the modern world,
which appears to be a speeding freight train to those unwilling to get on board.”
(Francis Fukuyama)
“Although terrorists can be terribly bothersome, they hardly pose threats to the fabrlc
of a society or the security of the state.” (Kenneth N. Waltz)

-.the discipline helped to sing into existence the world of September 11 by
reﬂectlng the interests of the dominant in what were presented as being neutral, and
universal theories.” (Steve Smith)

— * “It is my (Samuel P. Huntington: The Clash of Civilization) hypothesm that the
fundamental source of conflict in this new world will not bc primarily ideological or
primarily economic. The great divisions among humankmd and'the. dommatmg
source of conflict wxll be cultural. Natien states-will rerain the most powerﬁﬂ

actors in world affalrs bm”the»gmmai conflicts of global politics will:oceur between
nations and groups of different ewxhzatwns The clash of cwxhzatlons will ‘dominate
global politics. The fault lines between civiliz izations will be the battle lines of the
future.”  What is your hypothesis on the fundamental source of conflict in this
new 'world vis-3-vis Huntington’s? (30%)

= » What is the major problem in Taiwan’s political development today? (40%)






